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Name:

Multiplikation mit Hilfsgitter

L 0se jede Aufgabe.

6 0 3 3

2)

7 3 8 9

1)

4 8 2 6 4
3619 80

+4/ 8 2 6, 4, 0 0
5/ 2 3 6 6 4 4

7,389
59112 0
+2 9 5 5600
3554 1 0 9

<t ;wj|o
~ o~

XM

4)

O ©O|o

< A~

X AN

3)

+ 212 20

+4,6 0

2,5 90

o I|0O
™M O|N

X | <

6)

O |

o Nj©

X |~

5)

+2/4 00

+1 9 2 0

2,520

2,6 8|8

8) 8 5 9 3

9 3 2 5

7)

8/ 5/93
4.2, 9 6, 5 0

+3 4 3 7, 2 00

6 5/ 275
37,3, 0/ 0|0

+ 7,46, 0 0/0/0

3/ 8/ 75 44 3

78,98 2 7|5

1-8 |88|75|63]|50]38]25[13] 0 |

[ Mathe ] www.CommonCoreSheets.de



	Worksheet
	Lösungsschlüssel

